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PR | HER |[HO% 2 | MklE
204 fikee | EORE 1500
204 ige  [FFrOE 1500
204 i [=O4% 1500
204 fit#2  [=Ovs 1500
301 fkg: | EOHT 1500
301 e [MRO= 1500
301 ks [BOE 1500
303 fik$e  |EFO#F 1500
401 fikee  [BO4% 1500
403 ks |FFOF 1500
404 fitgz  [SOF 1500
404 -8 [BEOR 1500
404 fikee  [EOH 1500
505 fik$e  |[WOHE 1500
505 fikee  [FBOK 1500
605 fikge  [BOK 1500
605 ke |BOF 1500
605 fik#e  |ERO4 1500
201 | HPHm |[(hOFE 1500
201 | EHfHm =02 1500
203 | HPHm |FOE 1500
203 | EHHEm [FOLGE 1500
203 | HHHm [MRORE 1500
203 | HfHm [HOH 1500
203 | EHm [FFOB) 1500
203 | HfHm [EOMA 1500
203 | EHEFEm [HO4%W 1500
203 | HfHm [BOH: 1500
203 | EHHm [#0OHE 1500
204 | HHHm |[MROZ 1500
204 | HEHm |=OE 1500
301 | Hkim |50l 1500
301 | HEHm |[BHOXK 1500
303 | EHPHm |FHOSF 1500
303 | EHHm [BHORS 1500
304 | HHHm |FOE 1500
304 | HEHR [FTOH 1500




305 | HFHm [fMOFl 1500
401 | HfHR |[MOR 1500
402 | HPHm |[ROZ 1500
402 | HfHm |=O4E 1500
403 | EHHHg |HRO 1500
403 | EHEm 22O 1500
404 | EHHE |2IOHT 1500
501 | HHHm |FOE 1500
501 | HEHm |FOH 1500
503 | HHm |=HOZ= 1500
601 | HPHm |=OH 1500
604 | HfHm [#HOH 1500
201 | ZEEEE [HOMK 1500
203 | ZEEEE: [EOM 1500
205 | Z=gEs |2OF 1500
301 | ZEEEs MO 1500
304 | z=EEE [FTO# 1500
304 | ZEgEw [HOR 1500
305 | ZEEEE |FOFE 1500
305 | Z=EEgy SO 1500
402 | ZegEg |=OE 1500
404 | ZEgEEg |EOE 1500
501 | Z=g@Esr (MO 1500
502 | zZ=EEE M OFH 1500
601 | zZ=EEE; OB 1500
601 | Z=&EEH [FFOfF 1500
601 | ZEEEs |FO= 1500
eEy [20H 1500
201 =5 |EOE 1500 500
201 x5 |HOM 1500 500
203 =% |MOE 1500 500
203 x5 |MOEHE 1500 500
205 =5 |BIOfF 1500 500
302 E55  |#oR 1500 500
304 £5 MO 1500 500
305 E5 |FOEF 1500 500
401 £5  [RO% 1500 500
401 E52  |BOH 1500 500
401 =5 |#HOE 1500 500




404 E5  |MROEE 1500 500
404 =5 |[RO#E 1500 500
405 x5 |[HOH 1500 500
503 £5  |EOE 1500 500
505 x5 |MOHE 1500 500
202 =5 [BO= 1500
204 =4 |[FOXK 1500
204 =L O 1500
204 =45 |=OW 1500
205 =E  |EOXK 1500
301 =Fh  |HO%E 1500
301 =h O 1500
302 =L |HOM 1500
401 =5 [HOW 1500
402 =5 [HROH 1500
402 =5 WO 1500
403 -l OV 1500
403 ZE |=OM 1500
501 =4 MO 1500
505 Al E @) A 1500
505 =4 |=EO% 1500
505 =L |BIOM 1500
601 #=h5 O 1500
601 =5 |HOE 1500
604 =5 [BEOR! 1500
201 gHEk  [FEOES 2000
202 =k | FEOE 2000
203 =235  |EOE 2000
203 HEK O 2000
203 =23 [FFOE 2000
203 =K | EO&H 2000
204 =i |FHOXK 2000
204 =i [=0OE 2000
301 =IO 2000
301 =i [ROFE 2000
301 2K |FOE 2000
301 =i [FEOHE 2000
302 H=EK TORN 2000
302 HEK  |EOR 2000




302 2 |FoH 2000
302 2B  [F=o& 2000
303 #23 |[EOFK 2000
303 H=EK[EO# 2000
304 =2 [FOR 2000
304 =i [MMOJE 2000
304 #2E [ OR: 2000
305 =i O, 2000
305 g2k |[EROR 2000
402 =i [BHOLE 2000
403 g5 [BOK 2000
404 =i [HO=E 2000
405 23K O 2000
501 =ik [EOE 2000
502 g5k [EOHE 2000
502 H=EK [MOME 2000
502 23K (O 2000
502 =i [HOE 2000
504 23K =08 2000
504 =i [EOF 2000
505 S EX@)H 2000
505 O 2000
505 =ik [FEO 2000
601 =i [BOE 2000
603 g#iK  [EORH 2000
603 =ik [EOME 2000
604 H=EK |BOsE 2000
606 23k O 2000
606 =i (=08 2000
201 | BipERE O 1500
201 | EeRERE |TEOR 1500
201 | BeRERE (2104 1500
202 | BEreRERE RO 1500
202 | SviRERE |[HO= 1500
204 | EERERE | O 1500
204 | BERE |[HO4E 1500
205 | S5eRERE O 1500
205 | S reRERE [BIOZK 1500
301 | BeRERE [ElO% 1500




303 | ErERERE [BHOSF 1500
304 | BERERE (MO 1500
304 | BEwERE |[HOE 1500
401 | BRERE |BO= 1500
403 | EREERE (MO 1500
503 | BreRERE (HOB 1500
504 | E5eRERE |[BORE 1500
504 | EviRERE |=OF 1500
504 | ERERE |[HOXE 1500
505 | EeRERE [MOE 1500
505 | ERERE |=O= 1500
601 | EfERE |ZHOS 1500
602 | S5RERE [{HOH 1500
603 | iR [FOF 1500
603 | SCRERE [PROZ 1500
201 B [MOF) 1500 100
202 B |RO%E 1500 100
202 B [MOR 1500 100
202 B [HOZ 1500 100
204 B |=O# 1500 100
302 B [ERORE 1500 100
302 B[O 1500 100
303 B [MOH 1500 100
304 B [ZOR 1500 100
304 B |BOZ= 1500 100
401 B kO 1500 100
401 Bt [BO# 1500 100
402 B |ZIOR 1500 100
404 B [FOmE 1500 100
405 B |EOK 1500 100
501 B [FROH) 1500 100
502 B  |BOM 1500 100
504 B [=08) 1500 100
505 B | E=OE 1500 100
602 EH |ROF 1500 100
602 B | MROEE 1500 100
606 B |ROH 1500 100
201 | HWEEER |HO#E 2000 100
202 | #EEEER |#kOK 2000 100




202 | HEEIR |BHOFE 2000 100
203 | HEEEEK [FFORE 2000 100
204 | HREERR |ZXOfE 2000 100
204 | BEEERK |@OBE 2000 100
301 | HREEER |EEORE 2000 100
302 | HBEEEK |BHORE 2000 100
404 | PEEEER | RO 2000 100
405 | HEEEER | BOMT 2000 100
405 | HREEEK |BLORK 2000 100
501 | FREEEK |[MROF) 2000 100
502 | HEEEER |EOIT 2000 100
502 | HWEEER [#OE 2000 100
601 | BEEER |EOJE 2000 100
602 | ®HEK |ROF 2000 100
602 | HREEER | O 2000 100
602 | HEEK [BHOTI 2000 100
604 | HEEEER [ETFOH 2000 100
302 S =0 1500 100
303 2t [BOSF 1500 100
304 S [EOH 1500 100
305 S O 1500 100
401 g BOE 1500 100
403 FHE O 1500 100
404 FE |[HO= 1500 100
501 g2 |[ROE 1500 100
501 FHE |HROF) 1500 100
501 L |HOE 1500 100
503 g |20 1500 100
503 S [HO® 1500 100
503 ZHE |=OE 1500 100
504 g [ RO 1500 100
504 S |EOE 1500 100
505 S [FBOH 1500 100
601 . |HOE 1500 100
605 i [HOE 1500 100
606 S [BEOH 1500 100
606 i [=08) 1500 100
204 2t [FFOE 1500 100
201 | Pz |JCOHT 2000




201 | faEE ROk 2000
201 | mFiE BI04 2000
204 | BBFEE |BO% 2000
303 | BBEFEE O 2000
501 | BFE RO 2000
502 | BFE |ItOF% 2000
504 | fazEE |BROM 2000
201 | Rkt [BO= 2000
201 | #EEErt [BORR 2000
201 | Rt [HOMR 2000
202 | f#EiErt | BOR 2000
202 | FEEitE [HOZE 2000
203 | FEEEtt (O 2000
203 | FpEel (O 2000
204 | gt |ROE 2000
204 | it [BROZZ 2000
301 | #EEtt |[HO#H 2000
301 | et (SO 2000
302 | #EpEtt [EBoi 2000
302 | FEEEtt [HoR 2000
304 | it [HOR 2000
305 | it O 2000
305 | FEEgtt (O 2000
401 | HEpErt |[HOE 2000
402 | L |[MRO$FE 2000
403 | #FEigtt |=OMH 2000
405 | FEEitt |[BROE 2000
505 | #Eit |=04% 2000
602 | Zpitt [HOH 2000
201 | Zmi&Ert [fiEOde 1500 1500
202 | fmAtt |HMOZ=E 1500 1500
203 | gmEket 2Oy 1500 1500
203 | 4mAStt [#OWH 1500 1500
204 | #mEktt |[ROHT 1500 1500
204 | #mEktt [BROYI 1500 1500
204 | dmEktt |[HROZ 1500 1500
204 | ekt |=OW 1500 1500
301 | #ma&ktt |[ROHE 1500 1500
302 | Hmitt [EEodm 1500 1500




304 | #mEktt |[HOFE 1500 1500
305 | #mEktt |[sRO= 1500 1500
305 | gmaktt ([EROH 1500 1500
305 | #mEktt |=OM 1500 1500
401 | &kt |BHO=E 1500 1500
402 | HmEktt  |[PROFF 1500 1500
403 | #maktt |ZFEOIr 1500 1500
403 | 4w&t |[MROBE 1500 1500
403 | fmaktt |FrO3 1500 1500
404 | skttt | EO4I 1500 1500
404 | Zmart |[MROZE 1500 1500
501 | 4wétt |ROE; 1500 1500
501 | #m&tt [MRO4T 1500 1500
501 | 4méStt (MO 1500 1500
501 | #m&rt O 1500 1500
503 | 4wt (RO 1500 1500
505 | #m&tt (O 1500 1500
601 | 4wt |EONE 1500 1500
602 | fmirt |=ROZE 1500 1500
602 | 4wtk |[MOsE 1500 1500
606 | Zmitt [BOw® 1500 1500
201 | #&23 At JeOHT 1500 1500
201 | Mgz At |ROE 1500 1500
201 | #&23 At [BROF 1500 1500
202 |23 A1t [ EOE 1500 1500
202 | #E23 ANt [BRO= 1500 1500
203 | #EEs At [FBOME 1500 1500
203 [ #EEs At O 1500 1500
203 | At FTOE 1500 1500
203 | HEE AL [ O% 1500 1500
203 | #E3 AXL [EIOH 1500 1500
204 | Mgz At FFOE 1500 1500
204 | 23 A1t [BRO 1500 1500
205 | Mz At [HOE 1500 1500
205 |23 At [TO*®A 1500 1500
205 | Mgz At |ZEO5L 1500 1500
205 |23 A1t (RO 1500 1500
301 | Mz At [FEOWE 1500 1500
301 |23 At [ EO# 1500 1500




301 |[#&23 At RO 1500 1500
302 | s AL |[B O 1500 1500
302 | H23 At |=oB 1500 1500
302 | s AL [FHO®F 1500 1500
303 [ HEEs At [BROP 1500 1500
303 | s A |=OF 1500 1500
303 | B3 AtL BT OE 1500 1500
304 | #E23 Nt (MO 1500 1500
304 | Mz At [HOZE 1500 1500
304 | #23 Nt [$BOH) 1500 1500
305 | #&23 Att O 1500 1500
401 | #&gs Nt (MO 1500 1500
401 | #E23 A [BkO 1500 1500
401 | #kEs At (OB 1500 1500
401 |23 A BOE 1500 1500
402 [ #E23 A\t [HOE 1500 1500
402 | #kEs At |BIOB 1500 1500
403 [ 23 At |BROZK 1500 1500
404 | #kEs ANt |SOFE 1500 1500
404 | #kEs At |ZEOF 1500 1500
405 | #kEs At | FOF 1500 1500
405 [ #E23 At |= O 1500 1500
405 | #kEs At |[HOFR 1500 1500
405 [#E23 ANtt |HOR| 1500 1500
501 | Mz At |[FEOH 1500 1500
501 |[#&23 Atk [HOfE 1500 1500
501 | Mz Aft [FROE) 1500 1500
502 | Mz At (B OH] 1500 1500
502 | #kzs At [HOH 1500 1500
502 | #&23 ANt VEOHE 1500 1500
503 | Mz At |[FEO# 1500 1500
503 |23 ANt [=HO= 1500 1500
601 | #kzE At |[EONE 1500 1500
602 | Hkzs At [BIOH] 1500 1500
603 | #2s Att [ZXOR 1500 1500
604 | Hkes At [FFOd 1500 1500
604 | tas A\t [FROR! 1500 1500
604 |23 ANtt [ OF 1500 1500
604 | #HkzE At |BIOZ 1500 1500




605 | MEzs At [ZHOE 1500 1500
201 | #fi=EHE [HOZ 1500 1000
201 | #if=Ert RO 1500 1000
201 | =%t |[EOH] 1500 1000
202 | #fiEFE MO 1500 1000
203 | sEtE [EOE 1500 1000
304 | #fiEFE MO 1500 1000
403 | #iE |[MROBE 1500 1000
404 | = |BIOHT 1500 1000
405 | = |BROJE 1500 1000
405 | liEHE |[HO= 1500 1000
502 | #fi=EHt |[FEOE 1500 1000
505 | =t |50 1500 1000




